D

540 CHAPTER 8 TECHNIQUES OF INTEGRATION

8.4 Exercises

1-6 m Write out the form of the p

of the function (as in Examp
values of the coefficients.

1 2%
ss(a) (x +3)3x+1)

Vgl

X3+ x?

2. (a)

2,
3. T
@ 2+3x—4

3
4. -
(@) x:+4x+3

X4

xt =1

5. (@)

4

C

7-38 i Evaluate the integral.
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39-48 1 Make a sub
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49-50 m Use integration by parts, together with the techniques of

this section, t0 evaluate the integral.
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53-54 i Evaluate the integral
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55. The German mathematician Kar

noticed that the substitution = tan(x/2) will convert any

by completing the square and using

1 Weierstrass (1815—1897)



